Did You Hear About...

Solve each system of equations below using
multiplication with the addition method. Find the
solution in the answer column and notice the word
next to it. Write this word in the box containing the
letter of that exercise. Keep working and you will
hear about some “udder” nonsense.

@ 3x—5y=7

Bx+4y=10

@ Xx—3y=-5

3x + 2y =11

5x -2y =—1

(H) 4x+3y=9

3X + 4y =12

(D) sx-3y=16

4x + by = -2

(D) 4x—3y=-20

®

-x—8y=5

-3x+7y=-1
—2x+5y=0

(L sx+ey=-11

3x+y=-4

OBJECTIVE 6-f: To solve systems of equations using mulitiplication
with the addition method (equations are in standard form).

TWEET (1, 2)

HIS (2, 1)
SELLING (-5, 0)
BIRDSEED (-1, —2)
UDDER (2, 0)
THE (2, 3)
SINGING (-5, 4)
STARTED (2, -2)
FED (-2, 4)
BUTTER (-1, 3)
COWS (1, 4)
MILK (-1, —1)
FARMER (1, -2)
AND (0, 3)
WINGS (2, —4)
WHO (1, —4)
MOO (1, 3)
CHEEP (5, 2)
BEEF (3, —2)
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OBJECTIVE 6-f: To solve systems of equations using multiplication

with the addition method (equations are in standard form).
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